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Reg. No. : _
1V Semester B.A. Degree Examination, July/August - 2024
| POLITICAL SCIENCE
Modern Political Analysis
(NEP CBCS Scheme Fresher + Repeater)
Paper - DSC-8

Time : 2'; Hours Maximum Marks : 60
Instructions to Candidates:
Answer should be written completely either in English or in Kannada.

PART - A

Pon - D
I.  Answer all the following multiplechoice questions with correct answers in
answer booklet. (10%2=20)

B9NS o, wE ©oky IBNR FocING CVIONYR) 3T T FaHG, WBD.

1. Growth of modern political analysis started in the year

a) After 1950 b) After 1940
c) After 1930 d) None of the above
SEORT Todeodd NZerd BVIrdn T, 00T [
a) 1950 So3d b) 1940 =Zo3c
c) 1930 So3o d) 2097 cinmgch vy
2. Which is the impure government according to aristotle ?
a) Monarchy b)  Aristocracy
c) Polity d) Dictatorship Government

BOTBT'TIC T,5o0 ST I5FT

a)  ©oesn b)  &e=003 3
c) Twoooy TGS d) TmFOmS =omo
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3. Who is the proponent of game theory

a)  Aristotle b) Machiavelli
c) Almond d) Martin Shubik
§,¢00 ATHOIT T, STTT
a) OB b) HTHY,
c) ©Yow d) Sewrs® "W
4.  Who is the proponent of behaviouralism ?
a)  Machiavelli b) David Easton
¢) Manu d) Sukla
DIFTOPITT T, 8T
a)  RIR. b) TBedw® HAS
c) D d) 3w
5. Who wrote the book political system ?
a) David Easton b)  Almond
c) Robert Dal d) Hegel
"Tomseod FEF 7,05 WIBEDL
a) BT SR b) oyow
C) ToWEFE Tt d) @Ine
6.  Which among the following is not characteristics of behavioralism ?
a) Regularities b) Pure Sieence
c) Verification d) Interview
BINTINTE, 0RO SSFTOTOTT OB £33,
a)  QODRIPTVNED b) 3G, 9z
c) Wodeod d) =odsFz
7. Which is the root word of ‘Authority’ ?
a) Anctoriatus b) Status
c) Power d) All of the above
‘AT uz% BSOTOTT’ [oP® JIT odRR)TD.
a)  e0BRDOIRLIT b) Rewsw

c) TJoS d) o3 o)
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10.

11.

12.

Who discribed as father of concepts of cybernetics ?

a) Nabert Veiner b) Vandyke

c) Bentham d) Lucian Pye
CdRdd ROTFFLO TOTOTOD WTVIT 0T FoCDOTT ?

a)  TWFEFE JeI[o* b) =TReT
c) Yoot d) R F

Who is the proponet of input and output political theory
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a) David Easton b) Almong

c) Lucianpye d) Ploto

toptad 1 ewe) S;),Skz)crb WY TRBOFOD R TT Ei.ra&b@f?o:bd% =, 3TOATITTOTL ?
a) 3T =TI b) sQoE

C) QRACDT F d) Geedne

Which is noble work of Lucian Pye ?

a) Political System

b) Communication and Political Development
c) The Politics

d) None of the above

CR1ODT® a"éddd 0eTD soé

a)  Doweodd W& b) XoTFF =) Towmsdead GEDES)C%D

) O mOuE d)  BoeOF cIRF e

PART - B
Pon - W

Answer any Four of the following is not more than 500 words cach. (4x5=20)
BINS IRPTOTTR T, [yINeR T,80deomER 500 TTER D0eTHoZ V3o,

Explain the growth of modern political analysis.
SEOVT TowEecdd DFEHFEOD WISHIRoDT) DZOR.
Discuss federal political system.

RO030T Towsseodd i}sdn;odoe:’% WSFA.

[P.T.O.
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13.

14,
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16.

17.

18.

19.

20.

Explain the structural functional analysis of Gabriel Almond.
ADRANRM R HQor's Suizogy ToaRFIY Q:};z{dobaig( QTOX,
Discuss the game approach.
$I ATRISY, uIFA.
Explain the historical approach.
DITNE q)e.‘:’mea:‘@( QTON.
Critically examine the Richard Synder’s theory of decision making,.
OuE's JTT* T ST AposS LRATCE SN ATIHOITR), DSOTFFFTN 52D, e7OR.
PART - C
TN - A
Answer any TWO of the following questions is not more than 800 words each.
FENS CBRJTTTR TR TINOR T,30300038R, 800 TTRYR DIeTTOI
&3 OA. (2x10=20)
Discuss the nature and scope of modern political analysis.
SEOVT Tamseadd DFeRFAD FITRT =R W, QODIY, WWFA.
Explain the features of David Easton’s political system.
FeQT* IIWF°TIT Tozsseod FWIOD OFLNTR) DF[OR.
Discuss the traditional approaches of modem political analysis.
STORT TozEe0d DFFREOD TOT,TO0NT DITNFRY W R.
Critically examine Lucion Pyes theory of development syndorne.
QRACDHI* a;ddd Tozsgeodd cﬁzp:b% ogsam&s mr%oswsi ammr@mi\ aSchDﬁeﬁbﬁo.




